
1. E(v1) = Extant and E(v2) = Extant:

c1(v1, v2) = − logb(P (v1 ∼ v2))
c0(v1, v2) = − logb(1− P (v1 ∼ v2))

2. E(v1) = GLoss and E(v2) ∈ {Extant, Spec,GDup}:
c1(v1, v2) = c0(v1, v2) = 0

3. E(v1) ∈ {Extant, Spec,GDup} and E(v2) = GLoss:

c1(v1, v2) = c0(v1, v2) = 0

4. E(v1) = GLoss and E(v2) = GLoss:

c1(v1, v2) = c0(v1, v2) = 0

5. E(v1) ∈ {Extant, Spec} and E(v2) = GDup:

c1(v1, v2) = min

{
c1(v1, bv2 ) + c0(v1, av2 ), c0(v1, bv2 ) + c1(v1, av2 ),

c1(v1, bv2 ) + c1(v1, av2 ) + Gain, c0(v1, bv2 ) + c0(v1, av2 ) + Br

c0(v1, v2) = min

{
c0(v1, bv2 ) + c0(v1, av2 ), c0(v1, bv2 ) + c1(v1, av2 ) + Gain,

c1(v1, bv2 ) + c0(v1, av2 ) + Gain, c1(v1, bv2 ) + c1(v1, av2 ) + 2Gain

6. E(v1) = GDup and E(v2) ∈ {Extant, Spec}:

c1(v1, v2) = min

{
c1(av1 , v2) + c0(bv1 , v2), c0(av1 , v2) + c1(bv1 , v2),

c1(av1 , v2) + c1(bv1 , v2) + Gain, c0(av1 , v2) + c0(bv1 , v2) + Br

c0(v1, v2) = min

{
c0(av1 , v2) + c0(bv1 , v2), c0(av1 , v2) + c1(bv1 , v2) + Gain,

c1(av1 , v2) + c0(bv1 , v2) + Gain, c1(av1 , v2) + c1(bv1 , v2) + 2Gain,

7. E(v1) = Spec and E(v2) = Spec:

c1(v1, v2) = min


c1(av1 , bv2 ) + c1(bv1 , av2 ), c1(av1 , bv2 ) + c0(bv1 , av2 ) + Br,

c0(av1 , bv2 ) + c1(bv1 , av2 ) + Br, c0(av1 , bv2 ) + c0(bv1 , av2 ) + 2Br,

c1(av1 , av2 ) + c1(bv1 , bv2 ), c1(av1 , av2 ) + c0(bv1 , bv2 ) + Br,

c0(av1 , av2 ) + c1(bv1 , bv2 ) + Br, c0(av1 , av2 ) + c0(bv1 , bv2 ) + 2Br

c0(v1, v2) = min


c0(av1 , bv2 ) + c0(bv1 , av2 ), c1(av1 , bv2 ) + c0(bv1 , av2 ) + Gain,

c0(av1 , bv2 ) + c1(bv1 , av2 ) + Gain, c1(av1 , bv2 ) + c1(bv1 , av2 ) + 2Gain,

c0(av1 , av2 ) + c0(bv1 , bv2 ), c1(av1 , av2 ) + c0(bv1 , bv2 ) + Gain,

c0(av1 , av2 ) + c1(bv1 , bv2 ) + Gain, c1(av1 , av2 ) + c1(bv1 , bv2 ) + 2Gain,

8. E(v1) = GDup and E(v2) = GDup:

c1(v1, v2) = min



c1(av1 , v2) + c0(bv1 , v2), c0(av1 , v2) + c1(bv1 , v2),

c1(av1 , v2) + c1(bv1 , v2) + Gain, c0(av1 , v2) + c0(bv1 , v2) + Br,

c1(v1, av2 ) + c0(v1, bv2 ), c0(v1, av2 ) + c1(v1, bv2 ),

c1(v1, av2 ) + c1(v1, bv2 ) + Gain, c0(v1, av2 ) + c0(v1, bv2 ) + Br,

c1(av1 , av2 ) + c1(bv1 , bv2 ) + c0(av1 , bv2 ) + c0(bv1 , av2 ),

c1(av1 , av2 ) + c1(bv1 , bv2 ) + c0(av1 , bv2 ) + c1(bv1 , av2 ) + Gain,

c1(av1 , av2 ) + c1(bv1 , bv2 ) + c1(av1 , bv2 ) + c0(bv1 , av2 ) + Gain,

c1(av1 , av2 ) + c1(bv1 , bv2 ) + c1(av1 , bv2 ) + c1(bv1 , av2 ) + 2Gain,

c1(av1 , av2 ) + c0(bv1 , bv2 ) + c0(av1 , bv2 ) + c0(bv1 , av2 ) + Br,

c1(av1 , av2 ) + c0(bv1 , bv2 ) + c0(av1 , bv2 ) + c1(bv1 , av2 ) + Gain+ Br,

c1(av1 , av2 ) + c0(bv1 , bv2 ) + c1(av1 , bv2 ) + c0(bv1 , av2 ) + Gain+ Br,

c0(av1 , av2 ) + c1(bv1 , bv2 ) + c0(av1 , bv2 ) + c0(bv1 , av2 ) + Br,

c0(av1 , av2 ) + c1(bv1 , bv2 ) + c0(av1 , bv2 ) + c1(bv1 , av2 ) + Gain+ Br,

c0(av1 , av2 ) + c1(bv1 , bv2 ) + c1(av1 , bv2 ) + c0(bv1 , av2 ) + Gain+ Br,

c0(av1 , av2 ) + c0(bv1 , bv2 ) + c1(av1 , bv2 ) + c1(bv1 , av2 ),

c0(av1 , av2 ) + c1(bv1 , bv2 ) + c1(av1 , bv2 ) + c1(bv1 , av2 ) + Gain,

c1(av1 , av2 ) + c0(bv1 , bv2 ) + c1(av1 , bv2 ) + c1(bv1 , av2 ) + Gain,

c0(av1 , av2 ) + c0(bv1 , bv2 ) + c1(av1 , bv2 ) + c0(bv1 , av2 ) + Br,

c0(av1 , av2 ) + c0(bv1 , bv2 ) + c0(av1 , bv2 ) + c1(bv1 , av2 ) + Br,

c0(av1 , av2 ) + c0(bv1 , bv2 ) + c0(av1 , bv2 ) + c0(bv1 , av2 ) + 2Br,

c0(v1, v2) = min


c0(av1 , v2) + c0(bv1 , v2), c0(av1 , v2) + c1(bv1 , v2) + Gain,

c1(av1 , v2) + c0(bv1 , v2) + Gain, c1(av1 , v2) + c1(bv1 , v2) + 2Gain,

c0(v1, av2 ) + c0(v1, bv2 ), c0(v1, av2 ) + c1(v1, bv2 ) + Gain,

c1(v1, av2 ) + c0(v1, bv2 ) + Gain, c1(v1, av2 ) + c1(v1, bv2 ) + 2Gain.
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